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<item name="%l L A">
I— HGBAIZEHT HIFEHR —
</item>

BRDER

{resource name="FEHA">

I— BHWAICBET H1FHR —>

<{/resource>
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<job name="{EZxEA">

I— EXAIZEAT 51FEH —>
</job>
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{event name="FRA">
<time>2001/10/3 13:30:00</time>
<{/event>
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<job name="{EZxEA">
- {EXRAIZEET HFEHR —>
{start>
<time>2001/10/03 14:00:00</time>
{/start>
<end>
<time> 2001/10/03 14:10:00</time>
{/end>
</job>
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{order name=";F X A">

O— EXAIZEIT B —> A wEs |

{customer ref="ARg =
<time>
{latest>2001/10/1

item ref="ZL FLA” />

= />

0 12:00:00</latest>

{/time>
{gty>100</qty>

<location ref="1X5cA” /> % =Yk j
</order>
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<job name="“{EZEA">
{successor ref="{ExEB"/>

</job>

<job name="“{EZEB">
<predecessor ref="{EZxEA"/>

</job>
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<job name="“{EZEA">
{successor ref="ExEB">
<duration>
<shortest>00:30:00</shortest>
</duration>
<{/successor>

</job>
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<job name="“{EZEA">
{successor ref="EZEB” type="ss’ >
<duration>
<longest>01:00:00</longest>
</duration>
<{/successor>

</job>
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<job name="{EZEA">
<consume><item ref="EffaA”/></consume>
{consume>
item ref="2f faB” /><qty>4</qty>
<{/consume>
<produce><item ref="“8l F,C” /></produce>
</job>
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<job name="{EZEA">
<consume nth="“1"><item ref="“2ffHA" /></consume>
<consume nth="“1"><item ref="2ffaB"”/></consume>
<consume nth="2"><item ref="2f FC"/></consume >

</job>

nthDENRLCEDIEVEDITFEDHLNS
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<job name="{EZEA">
<assign nth=“1"><item ref="## 1" /></assign>
<assign nth=“1"><item ref="# 2" /></assign>
<assign nth="2"><item ref="LT B A" /><{/assign>
</job>

nthDENRCEDIEVEDITFEDHLNS
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<job name="{EZEA">
<assign nth="1" sel="1" ><item ref="#§# 1" /></assign>
<assign nth="1" sel="“2"><item ref="# 2" /></assign>
<assigh nth="2" sel="2" ><item ref="LBA”/></assign>
</job>

selljobIA TRIFFIZUDED LM FETELLY
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<item name="“"ZLFA">
{stock><start><time ref="now’ ></start>
<gty>50</qgty></stock>
<{stock>
{start><time>12:00:00</time></start>
<gty>100</qty>
<{/stock>
</item>
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L

{resource name="“{EEH">
{load><start><time ref="now’ ></start>
<qty>8</qty></load>
load><start><time>12:00:00</time></start>
Lgty>2</qty></load>
load><end><time>14:00:00</time></end>
<gty>8</qty></load>

<{/resource>
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{resource name="“{EEH">
load>
<start><time ref="init”></start>
{gty><max>10</max></qty>
{/load>

<{/resource>
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<37C

<job name=“37C”"/>

<job name="{EZEA">
{parents ref=“37C">

</job>

<job name="{EZEB">
{parents ref=“37C">

</job>
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<job name="“{ExA”"/>

<job name="K1 :YEZEA" master="ExEA">
order ref="K1”7/>

</job>

<job name="“K2 :YEZEA" master="“EZEA” >
<order ref="K2"/>

</job>
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T2 {resource name=“Jq4 > : TFE">

0 5 <switch>*EZ L G*</switch>

AH . {/resource>

794 {item name=“fgm B>

S assign>

B YA ERE {resource ref="“54 2 : TF2"/>

OvkH A4 X <priority> {8 FtIE i</ priority>

; L <{/assign>

1%5E“LEJLL <display><name> fa % </name></display>

G 7 <gty><min> Oy kA X</ min></qty>

{/item>
£ EBENITARA job name="35q/4 > L & - mE™>

<duration><calc>BFE] &4 EEE 1</ calc>
</duration>

</job>
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{job name="TLFEa—K">
<{consume ref=“ A B>
Laty>Wh B =</qty></consume>
<{produce ref=“H & B"/>
<predecessor ref="gi] L{¥ga—K"

type="ERXYFE"D
<duration><min> & 7& Y MIN</min>
</duration>
<{/predecessor>

</job>

item name="“HH AmMmB"™>
<parents ref="“5ERkeu B”/>

{/item>
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<order name=“A—% No’>
<time><latest>#HHA</latest>
<earliest>BAIR Al BE H</earliest>
</time>
tem ref="O&X S KID"/>
Laqty>A—Z E/qty>

</order>

<job name=“1L=wRID">
{parents ref="gx _E{ 1 =yK~ID”/>

</job>

<item name="7 A% ZKID”>
Laty><min> L= rIE</min></qty>

{/item>
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<item name=“fm Ha—F"">
<display><name> i B % </name></display>
<priority> ik B 18 5t EE</priority>
<price> B {fi</price>
<qty><min> B Gk B #</min></qty>
<{spec name=“{tHa1—F1"/>
<{stock>
<inc>O*TE [E 1R /7 7E+</inc>
Lgty><min> B ETEE L/ min></qty>
<{/stock>
{/item>
<job>
<item ref=“mBa—F"/>
{duration>ZF & & HAfEI</duration>
</job>
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E# 4 & AR

InitProblem T—RDPHEEZEITD
WriteData BREL-T—2EXMLE AT 5
ReadData XMLT—2ZREIZHFAD
CreateOrder A —FH%=—DEKRTSH
Createdob UaJE—DERT S
GetNextOrder RDA—FESIHT
GetNextJob RDOATEEIMT
SetDescription BXDIEMANBEZRTET S

GetDescription

EXRDEMATERMYHT
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Sub 5 8 ()

InitProblem

CreateProblem “#&# & R 8"

CreateOrder “;FXA”

CreateOrder “;E X B”

WriteData “H> 7 )L”
End Sub

XML Rk

1 ERTF

H2 7 )L.xml

<?xml version="1.0" 2>

<pslx ver=*1.0">
<problem name="#f & [Ez8"/>
{order name=“;EXA”/>
{order name="“;FXB”/>

</pslx>
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« EiFFHZEES(RT7V1—7F <)

o« HlMZEEM "KETSH(RTV21—7 <)
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AT72a—5 WWWH—/A UKL BAX
J- a<v>KRID:G0O0123
A <pslx>
S > <problem>...
) </prix>
et T
anaX

| avok4 EEX

/ “~ >
[B] & X ] 322 RID: GO0 123

A

<pslx>
<problem>...

</prix>
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